A L & B [aEeAil)
S M7 £ 4 A 21 B A# gIgSs £ 1 5
a3 % HEEDE - EIRGEKENSESEIE(GIR)
2 #H £ % 23,007,600 ¥ F {E # 25,564,000.
( 20,916,000 x  1.10 ) 2 E & R @ & 23,007,600
A AL & 1B 2[EH 3EH #w R
1 [AES# KEIFtE 53— 20,916,000
2 RS BHLIHE PRRE 20,916,000
3 [AESH PERE FRXE 20,916,000
4 |Bet R 20,916,000
5 R EH HIRE PRxE 20,916,000
6 [ER=aft W EL%E 20,916,000
7 [BEEE T o7-KIT 20,916,000
S [EEE EREL TRIXE 20,916,000 {CIZEURTE
FREBICI0HD0[THALT EEMAL-RBHRELORAHIRETHA.
A L B = ({587 F A+L]
S M7 & 4 A 21 B A#L g2Ifs & 2 =
s % B8 )i - NER I 2R B K ERBRE IS
2 N £ # 22,918,500 ¥ F @ % 25,465,000.
( 20,835,000 x  1.10 ) B K & B @ & 22,918,500
A #L & 1B 2[EH 3EH % B
1 [N KD PExIE 20,835,000
2 | EFERITERLSH PREXE 20,835,000 {CIZEYRTE
3 [MHEZHRSE FREXE 20,835,000
4 %RXed ERER FPrixls 20,335,000
b [t K EER FRIXIE 20,835,000
6 [ REE 20,835,000
7 [BRESZHRRSE FEXE 20,835,000
S |DILVIE BESH 20,835,000
9 ﬁBEA$iE|/7ﬂFEux PRXE 20,835,000
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S M7 £ 4 A 21 B A# IS & 3 &
(s % TEAEATEHI1SENIREKEREKELISE

2 #H £ % 21,898,800 ¥ F {E #& 24,332,000.

( 19,908,000 x  1.10 ) 2 E & R @ & 21,898,800
A AL & 1B 2[EH 3EH

1 [AES# KEIFtE 53— 79,908,000
2 EReit BB LIRE PHEXE 19,908,000
3 [AESH PERE FRXE 19,908,000
4 1B AERE 19,908,000
b [HRaft el Lins ThRixE 179,908,000 {CIZEYRTE
6 [ER=ft W EL%E 79,908,000
7 [BREE T ol-KIT 79,908,000
8 AL AREI FTRXE S1EE0E ERECHE |

LEREEEIC1000DI10ICHHA T2 EEEZMEL-EEARTHELOHAIZRSIEETHS,

A L B = ({587 F A+L]

S M7 & 4 A 21 B A#L BIfS & 4 &=
s % THE S EAS SR 2REKEMEEISE

2 N € B 20,493,000 ¥ F M 22,770,000

( 18,630,000 x  1.10 ) B K & B @ & 20,493,000
A #L & 1B 2[EH 3EH

1 %A= ki PEXE 18,630,000
? | EEERLERRSA FRIXE EIRE0H BERECE |
3 IMREZEXSHE PRIXE 18,630,000
A N=FEE BERESHE PEXE 18,630,000
b [HEed BHEER FRXISE 18,630,000
6 [ERet JKEER TRIXIE 18,630,000
7 [ BRXEHE REE 18,630,000
S | BAE RS FEXE 18,630,000
9 [DILYIE BES* 18,630,000 {CICEURTE
10| ARSI 7 X% Phix/s 18,630,000
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A L & B [aEeAil)

4 f 7 & 4 B 21 B AA HIZS % 5 B
G % ERSKISRRERET

2 #H & % 1,221,000 ¥ T M % 1,289,200

( 1,110,000 x 1.10 ) & & &l R i #%
A AL & 1B 2[EH 3EH

1 NIOEE 1,120,000
2 |BREf It FRIxE 1,150,000
3 [MEXet MEKRTEER PREXE 1,110,000 L
4 |BES#d WREEEXR FREXE 1,120,000

L EE24EIT1000 D10IZHHL T 2EEENMELE-EENLHE L OHIAIZIZRSRETH S,

A L B = ({587 F A+L]

S M7 & 4 A 21 B A#L BgIE%S ¥ 6 =
G e4 FERRKIGRIRERRE

2 N € B 2,409,000 ¥ F @ % 2,541,000

( 2,190,000 x 1.10 ) = & & BB i 4%
A #L & 1B 2[EH 3EH

1 [JNOER 2,210,000
2 |[AEESf ToBIE Pheixs 2,230,000
3 [BXE BEREER RS 2,256,000
4 BFREE IWRERLAR FREXIE 2,190,000 &AL

EEEELEIT1000DI0IZHA T HEEEMEL-EELNREHELORIAICRLIEETHS.






